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Model question paper 2019-2020 / wn#lfl efleomngsner 2019- 2020
ugsmb eugly - X STD
MATHEMATICS - senflaio
( English & Tamil Version / syrudeod whHoud SALp)

Time Allowed : 15 min +2 ¥ hrs Maximum Marks : 100
&ed Semey : 15 BWALID + 2 7 weoofl ewnds WwHLeLesTaar: 100

Instruetions : (1) Check the question paper for fairness of pfinting. If there is
any lack of fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil
to draw diagrams.

2ifeyemy : (1) semerdg elemesEpD sfwne afs uSleundl 2 MeNgn aeTUDS
sflunigs  osndeneyb. SsEFsLLSelldd Gsopulgplfer  SwmD
sevorenevafluneTiL £ 1 eonquing eiflefidssanyd.
(2) Beotb bz BB - sowuilemer WLGED aPHIUSHESD
2105CBMBOUSHGD. LWSTL(GLSS (Gaueitihd. ULRISST eusDIcuSHS
eILI6HTRled LWIGITLI(hSGSHED.

ey : Beaielfarndgner BTG L@ SHe06rs 6\BTeom gl
Note : This question paper contains four parts.

PART -1 / usdl -1
(ofweiorser : 14) / ( Marks :14)

Note : . (1) Answer all the 14 questions 1X14=14
(i1) Choose the most suitable answer from the given four alternatives
and write the option code with the eorresponding answer

ok : (1) @ufflefed e _ener 14 eflemesErd@io aflepLweflbsanyd.
(2) esnbéslL_beTen HTehid b eflenL sefls aayb aungsSstoneor
ellsmLemwish Gaihepbds SIS kL e silenLullapemupd GafHea er ooy

1) I n{AxB)=6 and A={1,3} then n(B) is
1 2)2 (3)3 (#6
n(A4xB)=6 wppi A={1,3} aafk> n(B) serg

www.dreamrealitytuition.com www.dreamrealitytuition.com



https://www.dreamrealitytuition.com/drmaterials

www.dreamrealitytuition.com www.dreamrealitytuition.com

2)

3)

4)

5)

6)

7)

11 )2 (3)3 @6
Given F =1, F,=3 and F,=F_,+F_, then F, is

13 )5 (3)8 4) 11
F=1 FE=3wvhpw F,=F,  +F _, acr esnpdslger F; sy

(1) 3 (2) 5 (3) 8 (4) 11

In an A.P, the first term is 1 and the common difference is 4. How. many
terms of the A.P must be taken for their sum to be equal to 1207

(1)6 (2) 7 (3) 8 (4)9

RO Salpd s fauflosuisr wasd 2 pry 1 wHpw oung elifFunsd 4. Bbs

snl (hSOBMLE euflensuich srdsenear £ it maflen snbded 120 25 BmSGD?

(1) 6 (2) 7 (3) 8 (4) 9
f= {2,a),(3.5).(4,5),6, c)}isa___

(1) identity funetion (2) one-one function

{3) many-one function (4) constant function
= {206,656 o0

(1) swesflé smyy (2} pempsasnerDNeT STIL

(3) ueosupiefiapba Gempibsner snfy | (4) wnded emiy
The number of points of intersection of quadratic polynomial

x? +4x +4 with the x axis is
()0 ()1 (3) 0 (o) 1 4)2

x* +4x +4 ey Soug voDILE Ganeney ¥ s8Gsnp e @b ysitaflaafier
T souretafl Sem e

1o @1 (3) 0 (seveog) 1 @2
The non- diagonal elements in any unit matrix are

(no (2) 1 (3) m (4) n
enbSBeumT 2160@ Slevofluigrd apsmeosiilL gHlebledeons £ milnjser

(1)0 2)1 B)m @jn

If Ais a 2" 3 matrix and B is a 3’ 4 matrix, how many columns does
AB have?

(1) 3 (2) 4 {3) 2 45

A et aewfuSistr auflans 2° 3, B arern seooflulsir euflens 3° 4 erenfled, AB erstmp
sisvoflileir Hirevseaflein eretorevollBeme WingH?

(1) 3 (2) 4 (3) 2 (4) 5
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8) In figure CP and CQ are tangents to a circle with centre at O. ARB is
another tangent touching the circle at R.
If CP=11 em and BC=7 cm then the

length of BR is
(1) 6 cm (2) 5cm
{3) {c) 8 cm (4)4 cm »C

LL S O anel soLowwisd £ _solwl euLL HHleor

2 __ .
syeord eulL e Sgierer Letafl R euflwins  61260gid wHHDTE ABTHESMD SHELD.
CP = 116&15 wpmub BC = 76e15 ereofles BR —6dr Hemb,

(1)6 ag.8 (2) 5 e (3) 8 61&18 (4) 4 agB

agnpGanpaer CP whpo CQ @b, ARB

9) The slope of the line joining {12,3), {(4,2) is % The valueof ‘@’is

(1)1 (2) 4 (3).—5 - 42
(12,3), (4,a) ereirp yerefimsner eneid@o Ganliqeor Fmiay —;- eteofle, ‘a’ —edr

oy ___
(1) 1 (2) 4 (3) =5 42
10) If x=atanf and y=bsecd then
2 2 2 2 2 2
y X _ x ) y _ B4
6y ?—?—-1 (2)?—?- (3)_+b_2_1 @ “af"—};{—-
x=atan @ whpo y=bsecl aafled
2 2 P yz ' X2 y2 2 yz
(1)—“?:- (2);_?=1 (3)?+b_2=1 (4)?“?-

11) A letter is chosen at random from the letter of the word “PROBABILITY”.
Find the probability that it is not a vowel.

1 2 1 3
1y = 2) — 3) — 4) =
{1) 5 (2) 3 3 3 4 5
"PROBABILITY" oo QEmeellslt  epsgmellmEE QB awpds
GaiiesnsalucAng:. si& 2 ulanwss Sdoeomoekpss Hepssey

1 2 1 3
1) — 2y = — i
()5 ()3 (3)3 (4)5
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12) The height of a right eircular cone whose radius is 5 cm and slant
height is 13 cm will be

(1)12 em (2)10 cm 313 em 4 5cm
symd 5 6ig.8 wppsd smywmd 13 a&.5 2_eoLw Crieulls snibifledr & wimbd
(1) 12 @8.8. (2) 10 a8 (3) 13 6815 (4) 5 g8

13) If the mean and co-efficient of variation of a data are 4 and 87.5% then
the standard deviation is
()35 2)3 (3) 4.5 425

o syelldn sgnefl wHOID WIPILTL.GE OBl WepGw 4 wHpKD 87.5%, erefléd

S Lefeo&sIoneorg.

(1) 3.5 )3 (3)4.5 @25
14) Varianee of first 20 natural numbers is

(1) 32.25 (2) 44.25 {3) 33.25 (4) 30

waeb 20 Bwed sresEaflen alle0ds aufsas sunafiuneorg)

(1) 32.25 (2) 44.25 (3) 33.25 (4) 30

PART -1l / ugd- I
( Marks :20) / (wgluewedorsser : 20)
i1. Answer 10 questions. Question No. 28 is compulsory. 10 X 2=20
10 ele@massEpdd Wi bd efemLwefibseyd, 28 sug el sl Lmuwns efeoLweflss
15) Define a function.
Y- UEDILIDIGES.
16) Compute x such that 10* = x(mod 19)

10% = x (10’ 19) srebrpeungy semougd X -@slr HIeNLS HetIHE LS.

4’y  6x2°
17) Simplify ——x——+
) plity 2z 20y*
.. 4xy 6xz°
el euiqefied . X
AL GUREES ARG 522 20y*
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18) Pari needs 4 hours to complete the work. His friend Yuvan needs 6
hours to complete the work. How long will it take to complete if they
work together?

2 Geusmeosmw 4 wewahl Gpused unifl awLiBpn. weuelr G QGeusmeosnw 6 wemf]
Crusdler ewbADnT ereofled Sooumd GFihe Sibd Gaemesml amlig (PQSHo
sT53ee0r Wewfl GHILOTGLD.

19) Find the values of X,y and z from the foliowing equation

12
_|r z

12/ 3
Slemeuqpid aweTLM 1gekBha X, Y, 2 WH SRS SN, 3 =(; ;)

X

MW W

20) What length of ladder is needed to reach a height of 7 ft along the wall
when the base of the ladder is 4 ft from the wail?

seufler suquisbkmhg 4 i OHTemeneded o _sren gesofiwneorg seufler & &dlemw 7
Suq 2 wrsHied eaneewerls Goeneuliner g efluiier Bergengd HTetos.

'+ 7
21) Prove that 1——£—-=cosec9+cot9
1-cos8

Blpeys: 1—-'-'—0—%% =cosecd +cotd
—-COo8

22) The radius.of a sphere increases by 25%. Find the percentage increase
in its surface area.

e Benaadler b 25% sPeféand Gurg, sflewnen ypluriiies a6l
SO0,

23) The Standard Deviation and Mean of a data are 6.5 and 12.5
respectively. Find the coefficient of variation.

66 SFeled S’ efeodmid WHpLD Funsil Shdluier wenpGw 65 LHHD 12.5 eeofled
LompILTC.(hé B1EB(ZENEUS STETmNES.

24) If f(x)=3+x, g(x)=x—4, then check whether fog=go f
f(x)=3+x, g(x)=x-—4,srsuﬂeb f0g=gof5rs&mg|&[ﬂu_m?
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25) An organization plans to plant saplings in 25 streets in a town in such
a way that one sapling for the first street, three for the second, nine for
the third and so on. How many saplings are needed to complete the
work?

&5 Ppisuemd 25 eigmasetied BlagasemeT bl SCLIAL g o6 S Heied 1 AU,
SreLnaus 6smeald 3 asSEHD, apenpraug fsmald 9 asgsERD bl WP
Seiniuc L g Beu@auenen FlempDeueniiLl 67 HHen e paaser BoHeneu?

26) Find the 19t term of an A.P —11, —15, —19, ...
—11, =15, =19, ... et snibHOSM s 19-aug L pIienUS SIS,

27} Find the value of ZBAC in the given ¢ 7
triangle.
aEnpseElULL. (PpEGETE0SHS60T £BAC ;mE dom

SITEO0TS.

1 &
B B em A

28) The vertices of a triangle are A(-—l,3) B(l,-—l) and C (5,1) . Find the
length of the median through the vertex C.
A(-1,3), B(1,~1) wipgmd C(5,1) ewsirue g wéGasrem sl (pswenser srefled

wenar C anfiGws asdgud mupdBGam g6 Femd sneors.

PART -11l / ugdl- 1Nl

{ Marks :50) / (wdleweiesr : 50)
111. Answer 10 questions 10 X 5=50
Question No. 42 is compulsory.

LS eflambEErde ellsnLwelldbs. elleom sredr 42 -6@ sLLmMULNS ellepLLafkbaeyD.
29) _Let fbe a function f:0 =0 be defined by f(x) =3x+2,xel]

(i) Find the imagesof 1, 2, 3
(ii) Find the pre- images of 29, 53
(iii) Identify the type of function.

f:0 =0 eebp emiuneon g f(x) =3x+2,xel]l ear euepmuEBsHIILLTED
(i) 1, 2, 3 - flped 2_(HhsemeTd HTesurs.
(ii) 290 whHpid 53 —6T (P61 2 (HHSEDETS HITETUTS.

(iii) smifelr QueDBEDILIS HMETOTS.
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30)

31)

32)

33)

34)

Let f:A— B be afunction defined by f (x) = —325 —~1, where

A= {2,4,,6,10,12} B ={ 0,1,2,4,5,9} . Represent f by

(i) set of ordered pairs (i) a table
(iii) an arrow diagram (iv) a graph

f:A— B asnp anjuneng f (x) =—32£-l STE0T  SUEDMURIGELLGADS. B

A= {2,4,,6,10,12} B={ 0,,2,4,5,9} s @obeb eunes sy f- @i

smaumid (wenpaHafied b,
(i) euflemears GamgserfledT SHevono (i) on’Leuemesr
(i) sbLEGSM LiLID (iv) euenguLLD

The ratio of 6t and 8t terms of an A.P is 7:9.Find the ratio of 9% term
to 13t terms

B Lo apngauflavsuiss 6-augl wWDDD. 8-eugl e.miLseaflsn efldiso 7:9
ereufie O—eugl LHMED 13-6ug £ NI sefleor eflEisid smetors.

The sum of first n, 2n and 3n terms of an AP are Si, S2 and S3
respectively. Prove that S,= 3(S,- §,)

S1, Sz, Ss eetuen WenpB M Fmlpd BT aflswsullsr wsd n, 2n, 3n
2_piseflsn saibge Sy@b. S,= 3(S,- S,) aar Bpeys.

6 13

m .
Find the values of m and n if the expression ———+—+—+nis a

X X x x
perfect square.

—1;-%+E:—+E+n eTeoTD LI EGEneney (p1g QuissED erefled m wHEID
x X x

n-eor W HNETTS.

If a,B are the roots of the equation 2x° —x—1=0 then form the

equation whose roots are g, f’a
2x’—x—-1=0 abip swerum'geir epersdT o wHMK S aefle a2f, fla

SyFIeuDEDD CPEOrRIGaTTES Gimein. SHLIGE ADETLTLaDLS SHTewTs.
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35) P and Q are the mid-points of the sides CA and CB respectively of a
DABC, right angled at C. Prove that 4(4Q’ + BP')= 54B".
ahGans phGansmmd ABCe ZC =90°, CA whpub CB@6ir sowwlLehaflseT
P wppib Q sreofled, 4(40° + BP*)=54B" e [Bipieus.

36) Find the equation of a straight line passing through (1,—4) and has
intercepts which are in the ratio 2:5.
(1,—4) ereiTD Lisitelfl QuAlFa1FeaugID, SieU_ (b Fistopaefler 6fldipb 2:5 £_6TeTEEoneT
Grei&EHMIg60T SOETLITSDL& SHTEHus. 2

37) From the top of the tower 60m high the angles of depression of the top

and bottom of a vertical lamp post are observed to be 38° and 60°
respectively. Find the height of the lamp post

tan38° = 0.7813,+/3 =1.732).
i

60 8 e_wpuperer Campsden o 5Auldmhsl SshGSITe o _dren 6 ellenddd
sbubHedr o &8 LHOID Squist Bpdad Ganenuset (weonGu 38° LHML> 60°
srenfled, eflemd @ d HDLSHSOT L WITSHERDS HTET0TE. (tan 38° =0.781 3,\[?; =] .732)

38) Calculate the weight of a hollow brass sphere if the inner diameter is
14cm and thickness is 1mm, and whose density is 17.3 g/em?.
g 2 enafiLpp Sidsemer GenengHler o drefiLb 14 63.5, siqoelr 1 1815 wHOID
Sésesmemnisr orisdH - 17.3 Hmb/easd eefle, CamengHeT  eTeL Db
SN HEHE.

39) Find the Co-efficient of variation of 24, 26, 33, 37, 29, 31
24, 26,33, 37, 29, 31 sydweuhrielr QUMb EB(EDAUSH SITEOUIH?

40) Two dice, one blue and one grey, are thrown at the same time. Write
down all the possible outcomes. What is the probability that the sum of

the two numbers appearing on the top of the dice is
i) 8 (i) 13 (iii} less than or equal to 12

£ Fpb wHmd smbued Bpd Ot B ussoLsaT BT GrIHbled
2 mULOupAetper. Bee SIS cllenaTaymenamud sTigsis. LsenLsefle 5l
eflpid ereduraerfledr &n.(bed Elpauplony) HenLbe B o6 eTeiTenT?
Hs ()3 (i) 12 ~3@& FONER|D Hend el GEDDEUTHEYD

41) Find two consecutive positive integers, sum of whose squares is 365.
Qufssfusalldr snbdd 365 QUISHniqL DbSIBHD 1060 (PpbseT Setmgenerd

SHTEU0TSH.
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42) A cylindrical bucket of 32 c¢m high and with radius of base 18 cm, is
filled with sand completely. This bucket is emptied on the ground and
a conical heap of sand is formed. If the height of the eonical heap is 24
em, find the radius and slant height of the heap.

32 a3.5 e wpud 18 5.5 s1glinés D 2 oL Gf & (HeweT aulgey cumefluilsd
(P(REDWDIITES DeoTTeD 2_eiTengl. @bs weme) Heoruled AemiLiuco 'ambq auqelied
SiHELILLADS. Sibss Sbfldr e wmbd 24 a5 aafld ST SHTHEDFZLD,
FMUYULITSEDSURD SITCO0TS.

PART -IV / ugdi- 1V
( Marks :16)/ (oflLawueturesser : 16)
1V . Answer both questions. 2x8=16
B eflombs@pd o eflenLwiafldbsayb..
43) (a) PQ is a chord of length 8cm to a circle of radius Scm. The tangents
at P and Q intersect at a point T. Find the length of the tangent TP.

5 a&.i5 gyoupster aulL et PQ syangi 8 ag.8 Henperar mretor gy@ib. P oHpid
Q —eflsit aufiG BFgud eanp@anpaer T aerp Leatafluld shHeApg. erefled,
TP ere0tp el@nhEam igsdr 'i_ﬁa'nb &ITE00TE .
(OR)
v {b) Draw a triangle ABC of base BC =8 cm, ZA=60° and the bisector

of £A meets BCat D such that BD=6 em.

euliudsb BC =8 as.5, ZA=60° wppd £A s @maweaqunearg BC &
D srébnp Ushreflufldd BD =6 61315 erstnpeuny sibldangt srevfled, (péBsnesond ABC

CUEDT .

44) ' (a) Draw the graph of y=x2+3x-—4 and hence use it to solve
¥ +3x-4=0.

Yy=x>+3x—-4-st QEDIULD QuEOTHE, SBEET LweTbEE x° +3x—4=0

eT6iTD ST el & S SSHeUD.
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(OR)
(b) A motor boat whose speed is 18 km/hr in still water takes 1 hour
more to go to 24 km upstream than to return downstream to the same
spot. Find the speed of the stream.

fleweoimen Setorevoifier 18 A1/ wewll Gaundder sdeud gf SuikHd uL e Hi
24 8 gnuHews Heses (fledT Hewsuld s &G Crsansei gevorecuT et erdig
Hepsuie) sL&S snppeons 1 weswll Grmb CaepauliLbansl. Heinefifsr BGeuso

SITE00 &,

i
3
b,

Sl

10
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